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Section : Child Development and Pedagogy

Q.1 In Howard gardener’s theory of Multiple Intelligence, if a person has a skill of understanding the
motives feelings and behaviours of other people, she is said to have-

Options 1. Experiential Intelligence
2. Interpersonal Intelligence
3. Social Intelligence

4. Intrapersonal Intelligence.

Question Type : MCQ_
Status : Answered

Chosen Option : 2
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Question Type : MCQ.
Status : Answered

Chosen Option : 3
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Question Type : MCQ.
Status : Marked For Review

Chosen Option : 1
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Chosen Option : 4
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Question Type : MCQ

Status : Answered

Chosen Option : 4




Q.6 Ina constructivist classroom based on Piagetian principles children learn-
Options 1. through explanation given by adults.
2. through self-initiated activity.
3. by imitating adults.

4. by striving for rewards.

Question Type : MCQ
Status : Marked For Review
Chosen Option : 2

Q.7 STeATIRT T I T AEAHI A T ST G T G S 9 aae fawan e st e
AT =] FAw A e g E

Options | ama%am

2 JUET-FHEYAT

ST TR

+ Sret Bfgag- T e
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Chosen Option : 1
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Status : Answered
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Question Type : MCQ
Status : Marked For Review

Chosen Option : 1

Q.10 Peter says, 'I fail because I am stupid, and that means I will always fail'.

This is a case of-

Options 1. learned helplessness.
2. achievement motivation.
3. self actualisation.

4. divergent thinking.

Question Type : MCQ
Status : Marked For Review
Chosen Option : 3

Q.11 Which framework proposes that learning is active and takes place in cultural contexts?

Options 1. Information-processing
2. Constructivist
3. Socio-constructivist

4. Behaviourist

Question Type : MCQ.
Status : Answered

Chosen Option : 3

Q.12 A teacher who believes that all students in her class are capable of improving their performance by

studying more, attributes the children's success to their-

Options 1. effort.
2. ability.
3. anxiety.

4. genetic make-up.

Question Type : MCQ
Status : Answered

Chosen Option : 1
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Question Type : MCQ
Status : Answered

Chosen Option : 3

Q.14 In which stage of cognitive development do children begin to build on each others' play ideas;
strengthen the understanding that symbols represent objects; but lack conservation skills?

Options 1. Concrete operational
2. Sensory motor
3. Formal operational

4. Pre operational

Question Type : MCQ.
Status : Marked For Review

Chosen Option : 1
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Question Type : MCQ
Status : Answered

Chosen Option : 2




Q.16 A child learns to run and hop before she can skip. Which principle of development does this
illustrate?

Options 1. Development is influenced by both maturation and experience.
2. Development follows a predictable pattern.
3. Development is discontinuous in nature.

4. All domains of development are inter-related.

Question Type : MCQ.
Status : Marked For Review
Chosen Option : 4

Q.17 Kamal reasons that he will give a crayon to Tanu if she also gives her one so that it is an equal
exchange of favours. At which stage of Lawhrence Kohlberg's moral development is Kamal at?

Options 1. Instrumental purpose orientation
2. Good boy-nice girl orientation
3. Social-contract orientation

4. Social-order maintaining orientation

Question Type : MCQ
Status : Answered

Chosen Option : 3
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Status : Answered
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Chosen Option : 3
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Question Type : MCQ.

Status : Answered

Chosen Option : 4




Q.26 Lev Vygotsky's theory of cognitive development is situated in the-
Options 1. behaviouristic perspective.
2. psycho-sexual perspective.
3. historical perspective.

4. socio-cultural perspective.

Question Type : MCQ
Status : Answered

Chosen Option : 4

Q.27 Which of the following are primary socializing agencies for children?
Options 1. Family and neighbourhood

2. Neighbourhood and teachers

3. School and neighbourhood

4. Family and media

Q.28 Growth and development of children consists of-
Options 1. only physical changes in body size and structure.
2. both quantitative and qualitative changes.

3. quantitative changes.

4. qualitative changes.

Question Type : MCQ.
Status : Answered

Chosen Option : 1

Question Type : MCQ.
Status : Marked For Review

Chosen Option : 2
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Status : Marked For Review
Chosen Option : 2

Q3 Where do we use sexagesimal system?
Options 1. |n quantification of data
2. In writing Hindi - Arabic numerals
3. In measuring distances in foot and yards

4. In measuring angles

Question Type : MCQ.
Status : Marked For Review

Chosen Option : 1
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Chosen Option : 1

Q.12 17 Feafivt & & 9fFg § 59 Ty F 97 0= 9% H wEaig B, sEe e e
AT F 7 A @ T 9iET * g o ¥ I uger i TRty w=m o

Options | .I Oa'.
2. 74
b gdr
4. ot

Question Type : MCQ
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Q.13 Rihana wants to become a good mathematics teacher. To be a good mathematics teacher, she must have
Options 1. The ability to recall all formulae & theorems

2. the skills to prepare students for math Olympiads.

3.
Conceptual understanding and ability to relate the content of mathematics with real life

+. Ability to solve mental math problems

Question Type : MCQ.
Status : Answered

Chosen Option : 3
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Chosen Option : 1
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Chosen Option : 3




Q.19 g 31, TAEx T wo= & FEw (T &) FEw 220 9fy fRAm 720 9fy 500 @@, 3 212.25 Wi
250 7 &, dr 2 Rreiam= a7, 500 IH TATeT AR 0.75 FremA W wiie F BT dEems Ry &
25 & F Traw fawr g

Options |, 428

2. 387

5432

1 384
Question Type : MCQ.

Status : Answered
Chosen Option : 1
Q.20 =8 ¥ Fia-dr A, w RfEm, Far 1 F F== # oF 3FT gEmaEt & 9w e F oo
BUURT FT Wl 87
Options 1.

R a==i & saar W O Twsht @are #F &% ¥ 92 & e s gl

2.
frferr o= @ aga T FEUEEE TR S - 17-8, 14-12 fE AW F= F e & §

3.
Gﬁqmaﬁxaﬂﬁﬁzﬁﬁaﬁwwmamﬁﬂaﬁﬁﬁﬁgvﬁ@ﬁaﬂﬁaﬁ%ﬁm
FEaT| TET TS HA TR & 3egd0i & S|

4,
ITHTE 9T 6-2 = 4 forgar ik == F1 38 10 I 9= F1d4r 7 @ & e Fwgam

Question Type : MCQ
Status : Answered

Chosen Option : 3

Q.21 g 42w, T& TuTRe Fal H AT FeATR H AT # r-arwt aer et a1 A6 9w F
e Rty R & s wr § S -

() 23 (i) 20+3 (iii) 23+46 = (20+3)+(40+6)
+46 40+6 = (20+40)+(3+6)
69 60+8 = 69 = 60+9 = 69

sy dfas Bl & AT = 7 9 &i9-a1 9 30d 3959 82

Options 1.
TF TS OTH T AT H T H G B b (OC (ST IIETAT B TEGT PR @ 8

2

@ma#mm#ﬁvﬁmmmmrﬁﬁ
5 g% Fge AOEGT R 9T g4 & W &l

4

78 o R a1 ST ws o @ s

Question Type : MCQ.
Status : Answered

Chosen Option : 1




Q.22 i #r 79 Yag 6:40 am T TN ¥ FHF W H FH T IF G A 10 B ww §oamw w1
F fam O g 39 7 9 7 A7 RT3 F 9%, 30 OR g9 F 3T O o9 ) O 9% 8
T 7T § SgueT 9 ¢, df 58 Pow G faw s @ & e s afe?

Options 1. 11:40 pm

2.11:00 pm

5.12:00 FeTY

+ 11:30 pm

Question Type : MCQ
Status : Answered

Chosen Option : 2

Q.23 mﬁ#mﬁﬁﬁwwmtﬁmmﬁ,mﬁmﬁmgﬁwmm%#
3 F U F AE gy § it w B W A 3w gty @ Fan ganfag snor @ gwdr 27

Options 1.

T H HW T TEIT T WAHDIOT eadl T AR] AT
2. FReTor-fieTs T F1 gosar & FE uea g

3 TR T HehoTdlcHF THS H FHaAT
T H OET & T H FAT

Question Type : MCQ.
Status : Answered

Chosen Option : 1

Q.24 T F T FH, T IR (4) FI TR T § 3TF T AT (7) F a9 §| 30 hawr w4 F T o
& R ar?
IR 92T SR &

v grer FAY arer WR &
2 T 9T WEHcHF 997 T

3. cUGeholed 9T HSHICHSF T ol

4.a§’ﬁaw:h'aﬁ;ra:r

Question Type : MCQ
Status : Answered

Chosen Option : 2




Q25 orEt & MHiEws F FIEUT H FHEH & HEoA & o0 FaAMUF S9gFT [TACHS I ¢
OV TR TR

2 FeToT uT MTenfyg gfEser

5 gaT ggelr

+ e 7 = TEe

Question Type : MCQ.
Status : Answered

Chosen Option : 2

Q.26 3M90T F UIH TH FEIS ¢ orH W T R T oy ¥
7 15 18
1 12 | 33
5 2 42
¥ TH AEANEE G Gl § AN ST W 3T e H T SRl ¢ S 9 W 3R TE & IO
¥ ofy 97 FEw 1, 2, 5 AR 7 @ A TR & W WA 3F F g

Options 1. 7
2. 3
3. D
1. 5

Question Type : MCQ
Status : Marked For Review
Chosen Option : 2

Q.27  srufdE TR W O F AT FrArwerd #F WEd @ a5 qdw § WeE & Ther ¢, o -
a. OTST &I &% 3T HEURUTSHT & FA901 FT 3N Iiges WElcdt & 86 & 3Ew o=
F E
b. TRT-TRCT & faw 71w Gl it # 39T Fe # Hegadr a2l
c. T i e OGS FHS U9 9= @ 3R RS e # WEraar SR
d. FRfera 3Tl & 39T 1 T Ll &l
Wﬁmmgﬂﬁml

Options . (b
2 (b
3. (a

4 (a

Question Type : MCQ_
Status : Answered

Chosen Option : 4




QA ZfE n TF Ipd TET &, A HH ¥ TOF O T FHF-Ar grei?
Options 1. . x Q.7

2. = 1.2

Sn+ 2

tnx 1.2

Question Type : MCQ_

Status : Answered

Chosen Option : 2

Q29 36, 54 3t 60 F T THEAF N FTIAH ZElAE UEEE F T F AW
Options 1. 500
2. 536
5- 540
+ 534

Question Type : MCQ.
Status : Marked For Review
Chosen Option : 2

QN ofeai, oIt F v AgeaqT HfFw P | wwamm -
ovior Y ¥, it SR FA gfEEtR (1Q) F gk F

2.
e ¢, FEIRR Jedr AT % S SToRarer arel HiEged S g g

3.
Er &, FiTE et # 97 gEee d #eg fen § & o= 3 it smumonst # o S S
gl

. T &, i Ao Jfeien RRE

Question Type : MCQ_

Status : Answered

Chosen Option : 3

Section : Environmental Studies




QI gy et 5 e o T S () T 1 R - T e e @
Ovtion: | o reeT TSI SYG

5. STEETTE TS SUa

+ o e T SuEe
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Q.2 Two pots were placed in the garden and in both of them seeds of Beans were sown. Teacher asked
Radha to put two pots at two different places - one in shade and one in sunlight and asked them to
make and record the observations daily in the note book. This will help Radha in:

Options 1. developing her observation skills.
2. punctuality and discipline
3. enhancing her confidence.

4. presentation of concepts.
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Q.7  Mrs Manisha wants to create a better EVS learning environment. She plans to
Options 1. take extra classes every weekend.
2. make them cram the notes.
3. conduct a survey of neighbourhood.

4. give notes to students.
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.10 Which one of the fOHOWng activities can be used by an Environmental Studies teacher to impart
P
process skills to her students.

Options 1. Recitation
2. Singing
3. Dancing
4. Gardening

Question Type : MCQ_
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Chosen Option : 4
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Q.13 Endemic species are
Options 1. imported species.
2. rare species.
3. species found in particular area.

4. endangered species.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.14 Red data book keeps record of
Options 1. endangered plants and animals
2. red flowered plant
3. all plant and animals present on the earth

4. all animals present on the earth
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Q.17 EVS follows the approach of
Options 1. behaviourism

2. observational learning

3. assosiationism

4. social constructivism
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Q.19 An EVS teacher has a student from Abu Dhabi, in her class. The teacher has her online class

scheduled at 10:00 AM (IST). What time will the student attend her online class from his home in
Abu Dhabi?

Options 1. 07:30 AM
2.12:00 PM
3.11:00 AM
4. 05:00 AM
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Q.27 The relationship between organisms where one organism benefits from the association while the
other is harmed, is known as:

Options 1. Symbiosis
2. Competition
3. Parasitism

4. Mutualism
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.29 Sachin comes from a socio economically disadvantaged background, Mrs. Khurana his class teacher
should help Sachin and create a classroom background/environment which

Options 1. discourages the use of his vernacular language and focuses on English.
2. Categorizes him into a separate group.
3. Teaches him etiquettes and manners which she feels he lacks.

4. values his cultural and social background.
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Chosen Option : 4
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